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piy |

S
@ Construct a triangle similar to a given | q%

: 2
triangle PQR with its sides equal to — of |
the corresponding sides of the triang?e PQR

(scale factor —i— <1)

LSSV P"’OFO-T %ﬂaﬁm 3 Thner LinL—?P'R’
aw —Tmpmpe-r -Frachm > Outer Un.L—H’!Rr
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Construct a triangle similar to a given

triangle PQR with its sides equal to 4
of the corresponding sides of the

_triangle PQR (scale factor % <1

SaLuTioN
- Given: Seole feufev f:f

RouGH DIAGRAM

M(_u nd a,?'mm

=~
Q,
8,7 l
Q3
Lot REQULT : e
12.2022 _ A P8R ~ A tgr :
=FICER,
P NCC
 TLR-DT.
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@ Construct a triangle similar to a glven
triangle LMN with its sides equal to 2 of the
corresponding sides of the triangle LMN

Q) 4
L (scale factor §< D).
QoLUTION : Rouvgy DIAGRAM
Given: Scol faudn —g‘— L
)
L
M o
MAN DIAGRAM ! ‘ = |
|

NN
M,
Ma
Ms '
My
My

REQULT ! L =

ALMN & ALMN o
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Cons Construct a triangle similar to a given
triangle PQR with its sides equal to % of
the corresponding sides of the triangle PQR

(scale factor Z— >1) - ’

SovaoNr D " RouGH DA éram 11

Given: smad«‘um Y

MAIN DIAGRAM

K,
R

87

REQLT
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Construct a triangle similar to a given
triangle ABC with its sides equal to %
of the corresponding sides of the
triangle ABC (scale factor % > 1).

Lolution
Qiven: Leole prlo.hi -g-

MainDiagram

K. RAJASEK!/
NCC-14220086 / 21.12.
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Resylk:

AABO ~ A A'BC'
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b Construct a triangle similar to a givel;
triangle PQR with its sides equal to 5

of the corresponding sides of the triangle

7
PQR (scale factor 7 >1).

S_’_f)’]t_.li@. @ﬂb G'D;‘ag rom:
Given: Sm-h-,@um i p!

AV

Q

T.

P N
Reuly A PR~ Apgg!
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<7\ Draw a circle of diameter 6 cm from a point ™
P, which is 8 cm away from its centre. Draw
the two tangents PA and PB to the circle and

measure their lengths.

S0 ludtion ' IY: 1;_ i (Ro%k p;‘agmn
GQiwn: D= bem A
Y= 3cm

T

Resulk — ppelr

“Tangent Length is 7.4 en - =35 &
| e
=55
PA o~ 7.4
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5 cmaway from the centre of a circle of diameter.
6 cm. Also , measure the lengths of the tangents.

p—-"'—""“j\*l'

Solution (Rﬂgﬂh D,‘gmm :
Gliven: D = 6 ¢r
Y= 3cm

0 P = 5 Qm

. Draw the two tangents from a point which is |

Mgl'né)l‘ajm")
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@. Draw the two tangents from a point which is @

10 cm away from the centre of a circle of radius
5 em. Also, measure the lengths of the tangents.

Sdubim

Given: Y= 5em

RoygH DIAGRAM
rOUah DIAGRATY

OP= 10 em ¥
K
MainDragram /
V4
'/
/
4.’
Cq)cu,a.\"tdn //
PA = |op*_ o /.t\
i
=li02_5* G
= (100 25
= \}75
Pp = §-7cm
Reselb
T Is 8. y Ve
}Oan“T 1-2"’31"7 8_7‘—32 ! >\ K. RAJASEKAR
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@ Take a point which is 11 cm away from the 1
centre of a circle of radius 4 cm and draw the RO g cD.-'Q.iNTD

two tangents to the circle from that point,

Solupren: Givent Y= 4om

oP= |l tm

Cal evlodion

Pa=y OP?.-o.qz-‘
= 2o 4
= j21 -16

v ro5

PA = |0.3

e 5 Bajsemican
; i 21.12.
Lu.yh‘) S ASSOCIATE NeG on-gfcz:%znz
GERMW NAVAL TROOP NGG'
HSS - GURUVOYAL, TLR.OT
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Draw a tangent to the circle from the point P ' |
having radius 3.6¢m, and centre at O. Point P is
at a distance 7.2 cm from the centre.

Solution ~ Rough Diagram
GQiven : Y= 3-bcm AL
op = 7-2um

MainDragramw :

P

X 2
B~ <\ ww*"d’ ealeuwlotion ¢

Results | . PA=[opioat
Tangent length i 6.2 em - S e W
: = m
=vag.gg

rPA-;g 6:2 ¢cm

gtm—
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@, Draw a circle of radius 4 cm. At a point L on it
draw a tangent to the circle using the alternate -

_ o segment.
golubim: o s ok
GiVen ! v=4em
N/_\M
0
5
b N 7

Resull- :
g TT' e ngtﬂo‘ Line
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@ . Draw a circle of radius 4.5 cm. Take a.point.on
the circle. Draw the tangent at that point using

the alternate segment theorem.

de;ﬁ ) il

Given ! Kadius Y= 45 em
N///EER\XM'

MngMQﬂP o
N ”.M L
/
{
i
0
ﬁ%’*‘

: - -

2 SESS

< <Noz2%

! it -

[ "'.LLO—'.

ASC0Z

Resuit <3958

! hgm§g

TT I8 Tongent length. N

mesZo

] : wQ;'

'ég’w

Mumaw

Z.:f-;g_
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& . Draw a circle of radius 3 cm. Take a point P on.
this circle and draw a tangent at P. |
edupon : Rough Diagvam
— . ARV |
Siven : ¥ =3em

Maln dlagram
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@ Varshika drew 6 circles with different sizes.
Draw a graph for the relationship between
the diameter and circumference of each circle
as shown in the table and use it to find the
circumference of a circle when its diameter is 6

cm.
Diameter (x)
. 1 2 3 4 5
Circumfercnce
tyfei 31 16293 ([124]15.5

Selubm

W Teble:

1 2 | 3 4 |5 |6

Yi 31 |é&2]93 124 |s5]8.6

S

(@ Divect Vavafim .
(3) Constant vaxiadfm l‘i:-f—L 24

n

KQJ Eefn-}_'s |"\f§2.'
Q, 3) (2, b2) (3.93) (4,-w) (5,155) (& 18:0)

(= Reult:

Tf x=6 then y=186
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@ A company initially started with 40 workers

to complete the work by 150 days. Later, it
decided to fasten up the work increasing the
number of workers as shown below.

El):mbcr of workers 40 | 50 | 60 | 75

Number of days (y) | 150]120] 100 | 80

6’0 (i) Graph the above data and identify the type
L of variation.

A / ’lﬁp (i) From the graph, find the number of days
N required to complete the work if the
* company decides to opt for 120 workers?

(iii) If the work has to be completed by 200 dlays
how many workers are required?

Slufjor.
() Tobe : N 2
0|60 [15 [go |10 [120

workees () 40 |5
doys (J) |10 [120 |10 (80 |75 to |50

(&3] TIndivect Vaviation
@) Constof voviadnn: K= axY = 4o0x0 = booo

A el ha)

(40, 15%) (50, 126) ( bo,100) (75,30) (90/75) (w0, 69) (122,57)

© Rew(t:

@) Indirect Variation
(v If mMm=120 then Yy=50
Gi) T4 Y=200 then A= 320
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@ A school announces that for a certain
competitions, the cash price will be distributed
for all the participants equally as show below

No. of

articipants (x) 214680
Amount for

cach participant | 180 | 90 | 60 | 45 | 36
in T (y)

(1) Find the constant of variation.

(1) Graph the above data and hence, find
how much will cach participant get if the
number of participants are 12.

Solutmo:
W TJobe: "
] 2 (4|6 |8
Yy | & | 9o 45

@

Thdivect ariation

(® Constapt Varmadkiom = 2xY= 2xI8 = 360

@ EE""“h fo.‘.‘l! ’
(2,1%) C4,90) (b,60) (8, 45) (lo 386D
X

& Resalk: () Kx7nAY9 = 2180 = 3bo,
i) B =12 e ye s

Nife :
2x150= 360
J2x30= 360
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5‘ The following table shows the data about the !
numbet of pipes and the time taken to till the

same tank.
No. of pipes (x) AEIEAE
Time Taken (inmin) (y) |45 3015 | 10

Draw the graph for the above data and hence

(1) Find the time taken to fill the tank when
five pipes are used

(1) Find the number of pipes when the time is
9 minutcs.

~ ﬁ
ppe Alels e |9 |w

Tme Y 145 |30 |15 |10 |9

.

@> Tadivect vanatio

(& Conyert Vavadim @ K= XY= 2x 45 = 9o
@ Ppoets (nY):
(21‘{5) (3,35) CGI"’) (9,:0) Ctﬂ,ﬂ)
© Resdt:
If m=5 then Yy=18
3,! Y- 9 Hhom A =10

:
F

TANHEETEE

K. RAJASEKAR
NCC-14220086 / 21,12.2022
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®

A garment shop announces a flat 50% discount

on cvery purchase of items for their customers.

Draw thc graph for the relation between the

Marked Price and the Discount. Hence find

(i) the marked price when a customer gets a
discount of ¥ 3250 (from graph)

(ii) the discount when the marked price is

li

L

i

T 2500 =]
So]uh'm ! o a - I i
o Table
l A | o0 2000 | 2060 Aooo | Booo bervo
[ Y Soo [ocoo | (5vo 2000

2 500 Aoen

@) -Divect Vaxredren
f

(&Y K’-'-g“-‘aw-‘:£=

550 L
A 1080/ o, =

@ Pl (nY).
((1oeo, guo) (24w, (o) (30w, i5m) (4600, 200s) (ST, 2Cw)
(om0, 2o

® Fesut:

L‘u :y. J: 325 Fhen ™M= 6500

WV 3 =2 then Y =750

K. RAJASEKAR
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8 Nishanth is the winner in a Marathon raceof 12
! km distance. He ran at the uniform speed of 12

km/hr and reached the destination in 1 hour. He

was followed by Aradhana, Ponmozhi, Jeyanth,

Sathya and Swetha with their respective speed

of 6 km/hr, 4 km/hr, 3 km/hr and 2 km/hr, And,
! they covered the distance in 2 hrs, 3 hrs, 4

hrs and 6 hours respectively. Draw the speed-
i time graph and use it to find the time taken to
i Kaushik with his speed of 2.4 km/hr.

Sdlubion:
m ZO,HL .

2 1216 |4 |3 |2
. | I 128 |= 1% | &
@ Indites Vanation

(@ Congtont Vamhdm K= Axy = j2x) = |2

@ Pomb On8):
(12,1) (6,2) (43 (3/4) (2:6)
-

(O] Resust:

T =24 them Y=%
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@ Graph the following lincar function y= % X,

Identify the constant of variation and verify it
with the graph, Also (i) find y whenx =9

(ii) find x when y = 7., |
_gol [ﬂﬂ: Pt e 2, 5:-,13-(73"!
) T&E"}_—-’ Pt ey, 3:-}(«?:2
A 2 (4 [6 [8 |to|iz]|ly
y | 1218 |% [El& |7
@ Divect vaxation

L
2

o Consfont vortotiym : H“%-‘-

“) POfﬂh My):
@D C4m) (6r3) (8,4¢) (to,s) (12,6) Cits,7)

= Resulk
O B n=q then y= 4%

W B Y= 05 the n= 15

K. RAJASEKAR
NCC-14220086 / 21.12.2022
ASSOCIATE NCC OFFICER,
JD/JW NAVAL TROOP NCC

GHSS - GURUVOYAL, TLR-DT.
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@ Draw the graph of xy = 24, x, y > 0. Using the
graph find,
(1) y when x = 3 and (i) x when y = 6.

¥
faaas

) | Y1y = 2y
SO! E D+ 2y12 = W :
L% 8 50 i
! " . 4X 6 =2y -
© 6(4 24 V. B
g |12 |24 'Er‘t
-U'l 12 8 |2 |}

@ Indived vavaltm

T

45551 toney toast 1

HHER

@ Congdenr varaton K= 2y= 1x2y= 24,

4 polatt (ny)-

(124 (2,0) (3,8) (4/8) (6,4)(3,3) (8r2) (%)
&) Result:

4 A=3 Thn Y=28

.IJ— _9 = L ".Hl-n = 4

K. RAJASEKAR
NCC-14220086 / 21.12.2022
ASSOCIATE NCC OFFICER,
JD/JW NAVAL TROOP NCC
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FIVE MARKS

@ LetA={1,2,3,4} and B = {2, 5, 8, 11, 14} be
two sets. Letf: A — B be a functiott given by
f(x) = 3x — 1. Represent this function
(1) by arrow diagram
(11) in a table form
(iii) as a set of ordered pairs
(iv) in a graphical form R

Colwhton

Giiven, AA‘—‘g 1,%9,:,3/ ‘B.-.-{.Q,g, 9,1;,:&,}

YV  Avyow J:‘aggw ) vy, — :
) ?A ' w) M

B.
Q—'—j"z x| 2|3 |y
2 > Joula |5 |e |1y
b 8 A

3 7

Lol oS
A

1y

' \__
(iif) Ovdeved poir :

_f._. ZC!,L) (25) (3,3) (& u)j

.| @(ﬂ‘/ﬂ)
(9 Guraphicy fovm :
3 T 5 ® (3/9)
6 -
® &
47 | K. RAJASEKAR
' NCC-14220086 / 21.12|20:
2Ll ASSOCIATE NCC OFF|CE
JD/JW NAVAL TROOP|NC
o o) 1 ) 3 4 — K GHSS - GURUVOYAL, TLR-
I ; -

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

Letf: A — B be a function defined by
f(x)= = — 1 where A= {2, 4, 6, 10, 12},

B= {0, 1,2,4,5,9} . Represent f by
i) set of ordered pairs ii) a table
iii) an arrow diagram  iv) a graph

._S_D!_@: G‘nren A:{Q,q.,é,m,m}
B:{o, 3,-'2,4,5‘,9}

U) mdeecLPaJ
£23 (20 (4D (6:2) () (125)]

() Toke:

(2 (4 (L J1o] 12
fo [ o | 2 | 4 | &

i Ay dlogrere: rg. @ Graphisd frvon:

A 4 2
‘,.
| _ -
4+ - . v @ (2,9
L —r 2 4
® (1o,
lo —r 4 3 (o)
12 > “; |
| 2
: N o Cv
N
' ®@4,/D
AR \ o BB
212022 -_ (ORI - B I v e T T
)INcC’ v,
N.R-DT. J
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Represent each of the given relations by (a)
an arrow diagram, (b) a graph and (c) a set in
roster form, wherever possible.

O {y)k=2y,xe{2,3,4,5},ye{1,2,3,4}

Seladrry
Gven =2y = 2y=7 _
Yy=2%, -9[9‘“)'-‘-
T4 A e32,3.4,57 TR pupmez, fos
pub n=3, 4= 2 =15

| pus 91:4-,_';(4):.1’:-9_ v
gyt o . 2
@) feoa DN, put 25, 4189 2 £ 225

]

2) vV

pip [D]R

l/‘\?tj,/\_g /

12 +—>— |

& L2 3

/

SO ER D

5 4 3f

i \_.£
2 ® “452)
I r 9(9/’)

» e .

OVS‘ e ) ;%q
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?epfesen'r eadh Qﬁ PR ?J‘v{'r) relatirn &y

@, an Qrrow JJ?W“? (& Qjmflv @) SoF I'n resterform
vevey po seble

{Cal;_':i)\ Y=nt+3, 1,y ane natured numbe, ¢ go}
Salutie

i G,V@h j': n+3 7L=§?,2,-3, 4,5 6, 7/8/3_;
y
Lok "FC’TI): N+ 3 Y =§ ,2,3,4,5 5,7, 9/9}

"k‘): l+3=4 , f02)= 243 =5 f(3)=3+3:=6
-F(-+)=4+3:7 ) f(s) ~=5+3 -8 (& =613 =7

(a) ﬂirow.&'ﬁzmm : (L)-ég:
T — AL -
l\'I RN i D (¢9)
gj\ '_F 2 “1 @ (5/%)
" P A ®em
5\\; 4 bt ® B8/4)
\ Al ®
1 \\G 41 e o
N\ o
8 \\Z Ry
9 N |
1
Ay o S e TR v B
AL
o) BoﬁeLme_
L4 30m (29 3.0 () (99 (8,9 ]

¥ ~
i \
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Represent the function
f={(1,2), (2,2),(3,2),(4,3), (5 4)} through

(i) anarrow diagram
(ii) a table form

_ Giagraph
So’hi'rd&:
Given = S 12) (22) (22) (43) (5r0) ]
M Avrow oh'air:m: - (i) @mf);
LFS
K‘\A r\ P
, "‘\i_z
‘2//
13
2 /'/ 51
4 s y. oG
5 // | :_—G,g @ (4,3
\_) A J ] @f) @@’1)
W Table fovm : W€ %81: 173 3 £ >
N ! 2.1 3 4 |5 T
Jov | 2 |2 | 2 |13
K. RAJASH:

NCC-14220086 / 2/1.

ASSOCIATE NCC

JD/JW NAVAL TRO!
GHSS - GURUVOYAL
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@ LetA={3,4,7,8} and B= {1, 7, 10}. Which
of the following sets are relations from A to B? @
() R, ={(3,7),(4,7),(7,10), (8, 1)}
(i) R,={(3,1), 4, 12)}
(i) R, = {(3, 7), (4, 10), (7, 7), (7, 8), (8, 11),
(8,7), (8, 10)}

Solution : Given: A=$3,4,7,8] 82517 10f

AXB = { @ (3,1 (3,10) (4,1 (4,7) (4, 10)
(7,1) C7:7) (7.00) (8,0 (8,7 (s, !O)}

() Ry=§ @D 8,0?

Ry & AxB
-~ R, is a velation
W Ra=§81) (4,2)]
Rz & AxB
*~ Rq ie not a relatm

| | % X
U“ii) Kz ':g (3,_7) (4,1) (7,7 (7,8) (8, ) (3,7 [3,‘”)}

Ra ¢ AXB

o Ra is net @ Telbution,

KAR
.12.2022
FFICER,
OP NCC
., TLR-DT.
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@ A company has four categories of employees
given by Assistants (A), Clerks (C), Managers
(M) and an Executive Officer (E). The company
provide ¥ 10,000, ¥ 25,000, ¥ 50,000 and X
1,00,000 as salaries to the people who work in
the categories A, C, M and E respectively. If
Ayl Ay A and A, were Assistants; CI, Cz,
C,, C, were Clerks; M|, M,, M, were managers
and E,, E, were Executive officers and if the
relation R is defined by xRy, where x is the
salary given to person y, express the relation R
through an ordered pair and an arrow diagram.

__Sc:lw{'f@ i
@) Ordered poir:

f = i( [oooo A 1‘)1 (loo00, /fﬂ-), Oﬂwﬂ,ﬂa),aom”q"),ﬂmf Ag),
Czéom/ C,),Cﬂseoo) C_,_)' (25000 ,C_;)’ (Q502, Cq,)
(Boomo, M,)_ (Soec0, Ma),( 5002, M3),

( leoo00, E,)}(}owoo, Ea )_}

¢ aqrarm ! , .
w él‘.'_“..“.’.‘:'[’,‘f - N Rj A
|6000 . ;‘;
> Ay
[~ Av
_ 3
25000 mE=———t
. cg
3 Cq.
— M
=% Mg
—> B,
|, 00,060 > B,
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LetA={1,2,3,7} and B= {3, 0, -1, 7}, which

of the following are relation from A to B ?
(1) R| = {(2: 1): (7= 1)} (11) Rz - {(_l: 1)}
(lll) R3 = {(2: _1): (79 7): (ls 3)}

(V) R, = {(7,-1), (0, 3), (3, 3), (0, 7)}

-_'_SAJuH&n : ¥
é;‘_ﬁ{?: A .=.§ '/2/3/7.} p BriS, o,-l, 1}

AXB :% .2 (),0) (1,-D) (L, 7) (2,9 (2,9 (23D (2,7)
6D (20 (3.4 G, (D 79 (7D ()]

Q) R-——{@?o (721
R, & AxB S R, is net a velakiom
(i) Ra= {c—-vf;) §
R2 & Axgr . Ro is net a relatiom
(1) Rs=3@-0 (77 (13)]

Rz & AXB
. Ra i¢ a Telakim

X X
@ Raz=3G) (oD (3,3 (e7)]

R4 $ .AYJB
Q4. is not a Te}cd‘l\d")_

Y T
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i
i
|
I
i

é) Let A = The set of all natural numbers less than
8, B = The set of all prime numbers less than 8,

C = The set of even prime number. Verify that
(Ar\B)XC=(A><C)r\(B><C) . cep

Solubiy ™

0020

202?—

Gu-nen A §_l,2/3 4,5 4/-7,( B+ {2,3 537]‘ c=f21
@ A0 = {»@,@,c,,@n Fni@asd [ @é_ﬁ; 4
-1 %857 — €D\ ®(Ann) ve
- (Axe " > (axc)
(- (Axe) xe 32 35,71 x gzj ¥ xS

= i_@/ 2) (3,2) (572) C?:ﬁ—)} ——3)| rus ® (xS n(B2)

G Bxe) =312 34,567} x§2]

= 3 (1) () Br)(4,2) c52) (6,2) () —®

W @Bx)= $23.57 x5}

322> (2,8 (52) (7D ——®

(> G P8 = § G (30m) (5 (3,20 —©

LHe = Rus

J

@'ﬂ@ X;‘_ = CAXC).HCB:(C) 1S Vem'ﬂf-ies;p

el

Y

g

SR RAJASEKAR
t. NCC 14220086 / 21.12.2022
'/ ‘ASSOCIATE NCC OFFICER,
"2 JDIJW NAVAL TROOP NCC
‘GHSS - GURUVOYAL, TLR-DT.
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D)ot A= The Seb of all nodamal numbers Jorathun @
- Bp'TL_Q.arq’, al) Pﬁmmmbefrs logg ey, 8
o = The Sob of oven prime numbar, Verify that

Ax (B—c) =(AxB) —(Axc)

Solwtiom :
ﬁilﬁﬂ A :‘-g 1, 2,3, h, 5, 6,7} B.':{ 2/.'3, 5, 73'/ C_:{Q_}
N
(0 8-¢ =3Z357f-§21 rféﬁfz
| LHED AxE@-0
=457} T ® axs
W Ax B0 =31,23,4,567x53,5,7F ® hxc
“ \1&3@ @aa)—éxcj

=3 (9 (v8) (D) (23 (VD) (2,7) (3D (363 (2,7
(413) (418) (471) (5,3) (515) (51D (6,3)(6,5)(6r7)
Cvens) (7,v% &

(i) Axg =31,2,3,4,5¢,7% x323,57F
= $0,2)CL3)C15) (1,7) (2,2)(2,3)(25) (27
(3,2 (213 (%) (3,7 (a,2) (43) (4F) (977
(52) (5,0 (59 (5,7 (62) (63) (0 (47
(73 (%3) (35) (77} @

v (Axc) =5 12,3., s*,s,-}j x§25%
2§03 () (3) U0 () Ot —B

) (Axg)=Bx) = .
=503 (1) (1) (23 (2) (27) (33)(3,5) (377
(4,9 G5 (47) (59 (5i5) (5,7) (6:3)(6:5) (6/7)

('ffa)_. ) (17) -

bl LHS:QHS
A X (8-¢) =(px8)-(AxC) i Vemfs].
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LetA= {er|x<2},B={xeN|1<x <4} :”2
and C = {3, 5}. Verify that

Ax(B U C) = (AXB) U (AXC)

T ——— i iy : _
_'E"/Wf’ - Riveo: A;{o,:} 8-3 2,9,:,]; ce §3,5¢
W RYe = $28,4,50 @ | Steps
@) Ax (B = szl? X { 2, 3.4, S;Z 2 Agxuél—v ¢)
= {@,1) (oD (on) (o,5) | ® AxB

0/2) (’/3) (’r‘f) [bf’)} -——-@ gc:-:gc‘)(l(gﬂﬁ)
Gi) Axe = $ o)} x 52,84

3 {C@/zgc 0,3)’ COIQ);(’/?-)'C',S)'CI,Q)] '_——'@
v  Axc = §o,17 e it €
= %@9/3) (0/5‘) (1,3) (D'Sj} — &

v) Bxe)v (Ax §) = {CO/J_) Cor3) (2r4) (05
(,2> (1 2) (i) [J/S')}
LR = RO w

A X ngc) :CA-XB) Ulaxe) 'S Vevifred|.

/
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@MA=§mew\m<z}, R=Swen|1<ngta] ond

Cec 3,67 . Verify that
A X CBnc) = CAXB) N CA X.c) - i

Colubion Sepe
5 =~ ® Bnc
Gen A =303, 25 5.4 =32 | @ eso
| @Bac = §x84fn 6,53 @
= $3% ), ® @x») n (A %)
) Ax@n)) = jo, 17 x {31
) - {9, D] ——

D B9 § o] x§ 2,247
= §ep2) (or» (o) (112 (1) (L1)} —B

@ (&x¢) = §o,1ix § 2,63
= $,» (o5) (1:3) (1,5‘)} @

‘ ) Q}XB)_“Q’XC) > Z(o,é) -Q,g)} )
W Lue=Rpe - -
A ¥CBn) = (axn) (Axc) ic verdred)

K. RAJASEKAR
NCC-14220086 / 214.12.2022 AN
- ASSOCIATE NCC OFFICER Al
JD/JW NAVAL TROOP NC 5y
GHSS - GURUVOYAL, TLR- S
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Lu— A'T'g')’LEW\%(D_}, B;gt)(_&”\,<m6qj

‘onel C=335% Vex iy tHhat
(AUB) xc = (Axe) UCBX&)

Solutioy e

=
Given: A= 0,13 B23 23.4f ex$2,5} |® Aus
d) AUB = g 0/ ', l‘, 3, ‘-{j : @GUB)XC.
; | ® AXC
d) (Ar) e — {0, ,,2,3,,_’} x5 3,57 , ® Bxc

A(Prc) V(Bxe

= 2(0,3) Co,5) (1,3) (‘;,s) (2,3) (z,g)
G G (43 cms)j 1 ey

@) AXC = Jo,1x § 2,51
= g@,a) (ors) Cl,a)(a,s)f —®
@ Bxe =523,47y $3,57

— {@f%)c 215')(3/3) (3;5‘)' (4, 3)(4.,5)} -———@ _

) AExO U (Rxo) _—; 3(0/3) (ess) Cu3) (1,5)

@ (25) (33) (3/5)
49 491 -©

Lt = RYS
CAUB) X&E: = @xq) V) CBXC) i< vev}ﬁ'd.
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@ Given A= {1,2,3},B={2,3,5},C= {3, 4} @

and D = {1, 3, 5}, check if (AnC) x (BND) =
(AxB) n (C x D) is true?

Solution : &iven A:Et,z,zjla-:-g_%s,;} —

C= §3,47 p=%1,35% © Anc

) (AnC) = ;_’/’-/@}ﬂ{_@/‘rj = £3} — [® roac
i 8D =% 236} ng,,@@ :%3,5;?——@ .@@T’t)x('Bnp)

—

® Axn
| GD @00 x (Rad) = $3Fx5s,57 <

©® (Bxn) n(exp) |
= 3@s3) (3»:)} — LN :
("W (Ax8) = §1,237 x § 23,51
=§£ (1D (LD015) (2:2) D) )23 )
@ (ex®) = § 3,4 x§1,3,5% L@
= 3 B3D(C3% (5) (4.0 (43) C4,s)j —B
@) (AxB) N (ex2) = § @, 3 59t —®

\ - LHS = RHS

Anc) x (Rnp) = " (AXRI n( CxD) 1S True.

K. RAJASEKAR
ICC-14220086 / 21.12.2022
SSOCIATE NCC OFFICER,
)ID/JW NAVAL TROOP NCC
iSS - GURUVOYAL, TLR-DT.
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 Soluhkan: |
GfVoCT’! A = 52/ 3} ; B:go,:j/ C.::'g I/?—j

() Buet = go,;, .?.} —_— ) 1__’3-@_____._-

b O Buve
) x (300 = 2,37 § 0,12} O w0 |
‘ =3 @9 (2D (2,9 (2.6 (3, G2} |@ AxB

s L& @ AxXC

@ AXB = ;_2/33)({0,!} : : @@—XB)UCPXQ

www.Padasalai.Net 7 www.Trb Tnpsc.Com

LetA = {x e N | 1<x<4}, B = {x € W| 0<x<2}
and C = {x e N | x<3}. Then verify that

T Ax(BUC)=AxXB)UAxC)

= z (2,0)’ (2, ')' Cgflg(_g: ’)_} "-@
™ Axc = $2,3Fv § 2%
=$@0 (2D () o] —D

© Gy v (AXe) =§@o (2002 (30)(2.)(32)

L&

 LHRZ=RHS

Ax (RO =~ (AxB) u(Axc) i verified,
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Lot A= {xe—u\ l<'>uL4}) B= 2% &N\O.{;*n(zj

ond ¢ = §')Le~\ '>t<3_f_ FHan Veﬁka}’ﬁwd-
Ax (RBne) = (AxB) N (Axc)

Solutir
_@N&Dj A c%?,?}/ Q:EO/ l}" c:{ ;,zj

. , CTEPS
Jd) Rnc :‘im,@ n 2@2} =317 —@© @——‘Bnc
0D Ax(Bnc) = 52,38 x5 1] (3 Ax (RO
@ aAxp
~-fencs N} @ D axe
) Axg = $ 2,37 x S 0,13 J ® @xs)n(p,xc_v
i g @9 (2,0 (30) C3,l)} —0

¥ Axc =$23tx512%
=5@D GG —@

© @®0caxg) = §en,enl @

LHS =RHL
Ax (Boc) = @BXxB)n(axc) ic verified,
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@ IfA={5,6},B={4,5,6},C={(5,6,7}, Show |
that Ax A= (B x B)n (C x C) | ‘

Solwhio = 4
Guen: A= 3,6}, B2 5 4568, oSy, o]
@ Axh =S 5,6 x$s,ep Steps T
S36m 0 D @t —0 | @ Ma
@) Rxe-s 240563 x $4,5,6] OR
=3 (@4 (455) @, é)‘(s,t.)c £/5) (56) & @18){1(}1&2_
(6469 {5,1.)_} &

(li}) Cxc ':{ 5,6/7} 'X{ 5, ‘/7}
== {_(5/9(3/&) (s, (¢5) (6/4)(4/'9
A5 () &

® @x8B) n (exc)

= i5,5) Cs‘/é)cc/g)(é/s)} —&)

f LHS = RHS
5. AXA = (Bxe)n(cxc) 1S Verfied.

K. RAJAS
NCC-14220086 |
ASSOCIATE NC
JD/JW NAVAL T

GHSS - GURUVO
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@ IfA= {1,3, 5} and B= {2, 3} then
(i) Find AxB and BxA. ( ”‘)
(i) IsAxB = BxA? If not why?

(iii) Show that _n(A_XBz_=__ I}_(_B_XA) j@f E&B}

;_S_E___’__“‘*_f;';-’ G)Y&b: /43{'/3/5} , B-'?-{z/?'}
!._——-_'--.—-f
e, [nw=3] [no=2z

(D AxB = $1,3,5fx 5 2,3% |
AXB — EC'/-?-)’ C'/S)}Cgﬁ-)j C;,!.), 69112C5/32}

h(Axg) = &

BxA =35 23] x 313 s]
BXA = %2/') (22) (2«;":") CS/}) (3; '3) CQ,S‘)}

h(exm= & -
(i) AB ABxA = 3 C0n) #¢2), (R0,

i N(AxR) = N(BXA) = n(a) x N(R)
& =622 %2
b =N =6
X Vz,w"ﬁ“&p.
{AR
12.2022
FICER,

)P NCC
. TLR-DT,
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@ Let fbe a function £ : N — N be defined by

f(x)=3x+2,xeN

(i) Find the images of 1,2, 3
(ii) Find the pre-images of 29, 53
| (iii) Identify the type of function
50)@70‘7;. g/,‘umg 70.(_—,4) = 3n+2 nEN,

A/ '
m=1, F0)=3W1>x =
7

= 342 =5
Pty =3+ = b+2 =8

’2 ~ 33+ = 14 —
. 3 e
n= 3, (»

)
P

X Thimc?% ae 5,8, U

.gm.’:g—?"')——
e 27 °

e—

=
=7
ean)::53/ 3n42 =63

AN = 63—2

= EL7
Ly
W=7

5T Pm,}majw e 9,17
. \ into Feaaction
(i o e ol = 00= ond Into fe
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If p" x py x py™ x p* = 113400 where p,, |
P,s Py P, Ar¢ primes in ascending order and x,,

x, are integers, find the value of p,, p,, ;5

Xgs X35
P, and Xy Xps X35 X, |
)

2| |) 34 00

2| 5¢700
2| 28 350 s
Nxoo
3| Iy fﬂﬂgggg
NIk
34725 3
3| 1575 WSSES'
o Sgz23
k. Las d}g’;}f?\;ﬂf
NIL=2
5 Meoso
75 .7 o3
MO23a
5 35- Z,.(":(Jg

i
’ 2

= |)3406086

o 2yx2 X2 x 3x2¥3Xx3 ¥ 5X5 x 7

) \
53 % 3" v s x7 = 360

: ’ ni A LY Ny
Given. l Prox P x Py x P, = N34o0

S =2, Pas3, P35, Pye?
x9=!

')1,:3, '”2:&"/ %3:‘-2‘}

S—
E———
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@ Find the sum to n terms of the series
L% 85 4+ 555 + s

Soluhio ¢
.gn ~E+855+5554+...- +N texms

SD +1 A et n] _

SR by o

5_[00—;) + (loo-u) -}—(!Qoa-r)—r R g

K. RAJASEKA
NCC-14220086 / 21.12.:
ASSOCIATE NCC OFFI(
JD/JW NAVAL TROOP ?

GHSS - GURUVOYAL, TL
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@ Find +Hhe Suro fo p Ferme & he Lovies.

3+4+33+4+333+...... to n terms

Solutio M @

Q, = 3+ 33+ 323+ -4+ n terms

3£\+H+Hl+ '--—H'g

_c.r-'i.[q +47+999+ +i7

_g_[( 0~ l) -}-(loo —I) 4y ([000—0 _‘.....,.ﬂ

oo 41000 £++-0) = (131411 4-1)

g

~ow
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@ Find the sum to n terms of the series
(1) 0.4 + 0 44 + 0. 444 t ... to n terms

Qa/ua'vavr '
G}Iafw 'li 04 ::—Lf-fb

.ﬁ‘_ + 8¢ 4 A4¢

(e© [600

4[ ”' R rl]
!oo [000

< ‘i +iﬁ.+-~:’7
qQ o !°O (600

[Q-— “!‘(’ loo +'”+i’]

+ +--+h Terme

r @
__L ’ lo

4 S lo["”_"[l

78 e
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(&L ) Findthevalueof 16+ 17+ 18 +. ....... + 75

~

fo/uﬁmj
Gven:  lo+1T418+ - =

= Cl +2 43 +..+75>_(1+2+3+---+15)

n=7% n=/5
= Nnen+ ) _ ncht)
= 15 (7s4) L [BUSH)
. 5. - 2

26
15 x 3 _ 15X E
€ £

rd

— C’?Sxas) L (rsw)

- 2850 — 120

g —

|

= 27730
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@ Find the sum of the following series

(i B & 74 B b i e B

So}ijjm _
‘62+7?‘+39'+ .. -}-D.lo_ :(Il—r 2.2-4 - 2:2-)-—(;2'.;:,".;---- 5‘1)

~ hin+)(2n4n) . nCh4) (2n+)
1N B
= V(24 (2x24) S (54) (2x5+1)
¢ 6 |
Al
— %rx;a_yq& XL X

£ 5 %
= (7xn x a3/ (51)

= 321 —J 555
= 3a2&¢
K. RAJASEKA1I
NCC-14220086 / 21.12.2(
ASSOCIATE NCC OFFIC]
| JD/JW NAVAL TROOP N
| Xem 22 - GHSS - GURUVOYAL, TLR
Ao =24
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2
Find the sum of 15* + 162+ 17% + ...... + 28

Colutpse

2 2
(5 414+ 17 4 - 428 =
= (154274 3% - -+:v3)._(r a2t

h=19

= n(nH) @n+) _ nintl) (2n+1)
6 6
0¢ (28-41) (2x28 +1) _ 14014) (2X14H)
E el ! 6
Ly il )
= 2BXx29x57 14 X1 X 29

. Ex # EtSa
:CLPX?—?Y‘D - [7x5x19)
=~ 7 - ot

_ 4699

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

@ Rekha has 15 square colour papers of sizes 10
cm, 11 cm, 12 cm, ...... , 24 cm. How much area

can be decorated with these colour papers?

Solutisy ! I

L 2
: o ven! (6 + 1 412+~ +24 =
¢ =
= GL"“ 2 s 7—‘1‘_) -—(lz+a.°‘—+ +9)
i lh:c)’

~  Vlh+) (JJHI) dli BCYH—I) (2n+)

£ , A
_ 2434+ (2x244) _ 9(91) (2X43)
= : , ! ——
4 g
~  2LxasXy§ A xkxq
& 2

s (‘r.x 25 qu — (3x5x\])
= 4AFeo — 28%

—

- 4 65 | -
; K. RAJASEKAR

NCC-14220086/ 21.12.202

- ASSOCIATE NCC OFFICEF
JD/JW NAVAL TROOP NC(
GHSS - GURUVOYAL, TLR-I
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@ Find the sum of 93+ 103 ...... +213

Qo)wﬁ“‘?

S vas

Griven q —Ho 5 Akl

= (13 24- ,_},_,) (; a4 - —1-8)

hCnH)] [’7 C”"')
>3 a(z 8”7 R
=T g

(21 vil) = CAXOL

@n?/ya wolk_

n 2.
23) — 36 23)x23)

2.3
(2@
462 =% |

T 5334 |

\)

5334) — 1296

—

52065

—

_%xsé#
T ;
(08
276

'-__._—-'—-—'-_ )
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@ Find the Sum of
10+ 113+ 123 +

...... +203
sbzu,;m N ‘
6"'@’0‘ 10 + 134 1234 .. +9‘_a3 -
s C1312.3+ . ..+9_a3) _(,_3_’_ ey °13)
N= Q.o'

!

[h=5]

[h Cn-H)J 2'__ n (n+)
2 2
é% X2) L_ 9 x:-és:

x x

= (tox2))” - A

)

y .
Do 45

Y

4_4.,00 $ Do2s

\)

42075

K. RAJASEKAR
NCGC-14220086 / 21.12.2022

AQCnNnriaTr

IS FalF o Y el N
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Find the sum of the Geometric series | @
3+6+12+ + 1536 _

oooooo

q=3 , Y= Z‘"" Y
n= 1536 [t,=ar"

‘2 (lo2y 1)
)
-~ 2%xl023

-—

\

~ BobF
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@ The sum of the cubes of the first » natural
numbers is 2025, then find the value of ».

So lutper

3
Gl‘vm: lg—r 234 33+--'-¥h = 2015

E’Ch+’2]z = 20625

2

[”Cn-H) o o4st
2

h(hH) L ar
2 !
h_(:n—H) - ?D ml;>7o
n*an —f0=0 s
(n—19) (n+w)

n-f= , nHo=e

r=7) =

K. RAJASEKA}

3-2’11* +ve ruumL’T_
NCC-14220086 / 21.12.2¢C
ASSOCIATE NCC OFFICI

’ h= 9 ; ;
JD/JW NAVAL TROOP N(
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(39_ The sum of first n, 2n and 3n terms of an A.P.

are S, S,, and S, respectively.

Prove that S, = 3(S =5 )

S— C —— e

Sk, fot g, = 2 ):szou—Cn—-DJ

B s %9?_[24 +C’Ln-—-|):|] ¢, 2._2.[2,;14—(30_,@
Co -8, = 2N 2Q+C2-n-—l)J [a_q +(h..,)j

- %"4« +atand] - 4 [zm g ]

=1 (zm—r gnd = 20’) (22+ hd - i’ﬂ

_n [ 4 4nd 24 =22 —rd +4]
%Lm +3nd = 4]
n [ 24 +8%-) C?j
TR _g_%ﬂo_q +(20-1)d

Sval3(ex-S) =53

349 P\’DVQ—G{
/ ,.::'-.;h

-
PRV, 1§ i s "1"‘
| Pl I B W - oot

ap—
—
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@ Find the sum of all natural numbers between
300 and 600 which are divisible by 7. v

gc}w{j‘m*
E\—Ja'}mra-! Munbers befwesn 300 omd boo
are GLJ'V\'-C:ID!L Ly 7

201, 348, G, o 5‘?5—}

2| + 208 + 354 - ---+595

Q=120 , L=595 d=320%-30 =7

No.ef Texree ln, L-2 +) ]

N

e -
2+ =42t =43
W ({) siud

Surn of 1 teoms | S0 = J[a4] |

84}3 = %[2014’5‘?5?

_ 2)5 X876
qus = /?269.[
P
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-} Find the sum of all odd positive integers less
than 450.

Eozu—ﬁ?ﬁ)#r
| +2 +5 4. -+ 447

: Felprw 8 W R 23]

2

:lULS‘XASO

Q c-55625J

225
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@ Pfl"lc{L The Qum o* all najuml nymbers .
bedwean o2 omd qo2 chiel, ave net Sura

h ferms,

divisibe by 9. F; 2 [ard]
S’olu}-ldﬂ' Sqe= 'z_iEéoLfd‘?ef]

) To fmd S betwesy o2 ond 902

= 2N Y
603-{-604--!’605‘*“""?0) = 37,5 X ol’_

a=bos, L=90) ,d= bou=6°2=/ lg-u_;:: 56400 |
m-*TeTmS) n= _‘Lj_ci-"f') :w'ﬂ Gip '71& S E OO?L Ar‘d;}&t l: 4
Letween bo2 omd 9o2-!

h= 3.’?.5’“ = 298+ = 279 *'-anﬂf??? | _
' | a2 = 22y8Le—-65L400
.Sqm & n 'fefm) Sn = %iq+’gj 8&‘1? 75 3\ L)- Lt

S 299 :2‘5—?[603-}73;7 = | 495 X /504 = 168448

!Sm = 294848{

(i) To_find Suryof botwees ez ond o2 diicVe by oG ATASER AR

0086
ASSOC AT 28,/ 21.12.2022

609 + 608+ 6/2 7~ ?oo . "_J'g';;’W NAVAL TRgg;'S(E:?:'
Q= bo4 , L=700 d= beg-boy =4 - GURUVOYAL, TLR.DT.
= y; — ’

. rat Feo—-boy 4
orof Ty, [ G- 2

h= %—g‘“’" = 74+ =75 r‘l
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Find the square root of 4 |
64x* = 16x° + 17x% = 2x + 1 o

Solem -
2,
G\iVe\o: 64 ')\‘r-lb"n‘3+ 17N - 22 + |

8 -) / X2
8 (?/ -1t LRANE
__)Lf'

T T

(=) B =
O

gjuau.-'roo{' 1S l 8'1?_"’7(""!/

~

K. RAJASEKZ
NCC-14220086 / 21.12.
ASSOCIATE NCC OFFI
JD/JW NAVAL TROOP
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éD Find the square root of the following m
7 polynomials by division method e
XY= 120 +42x2 - 36x + 9

So Jutioy l_ — e
4

l -6 3 Xy
|1 Sz 42 -36 T
/
=)
5.7 il ~ A2
| \2 36
| &) & |
2 -2 3 -?/7
G 36 /9
| — ) >
@)

(e I -}

e S?7uawerecﬂ' &S /'19—-6'14-3,
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Find (K Ssuane voof f

1211 = 19&3 - 183,1'2+ 216x + 144

Q (wl-rw 4 3 2
ven: |21 M =198 X ~)83 7'+ 21bn +HLy
S 2
1) 112 —198  ~183 216 (uy
/)é)
¢->
D2 -9 -—!@g -)83
~148 g/
‘ Ct? (4s
22 -—I8 —)2 /4 {% 4y
i 26
«“t)
O

97uwu rféaaf 1S /H'n,’—?x—nz/

K. RAJASEKAR
NCC-14220086 / 21.12.2022
ASSOCIATE NCC OFFICER,
JD/JW NAVAL TROOP NCC

GHSS - GURUVOYAL, TLR-DT.
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@ mﬂe/mgjumno{'af'

37280+ Ar 4249
Solwfﬁ"),

¢ ¥
GVQD' BT M —-2_‘3')13..;_4-’719'-(-1_}9,1 +9

‘10 Clﬂm'gf& 7endacd 7Dcnm
A 28%> 4217 -+4z-7‘~‘+9

- ~7 . =3
Va1
)
it o —%8' 27"
—_r28 4?
4 -4 -2 f / /
. c+)
O

Q Sjunm vooty 18 ]293“— 791-—9,/
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(49 Prd the Suure vast ¢

' l6x“+8x2+l

_.g_"ﬁ‘ll’ Giiven : lém+8nz+]

chanﬂt Slandard {Irrm'
2 + |
162 + 0% + 8n + O

4 O]
V. | oEN O /
[, |
&
&0 o
O O

NCC-
ASSO

1m7 v
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)

@ If 9x* + 12x° + 28x? + ax + b is a perfect square,
find the values of a and b.

Solui"?ﬁ')é.‘
£ PR
(Siven: Q')qu- 12’143-\-:2871 +2_’”~+_12,_

gl Dl
3 2/ 2 26NE b
(-)
. Gl 12/ 28
|2 4
- @

tAJASEKAR
1220086 / 21.12.2022
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Find the values of a and b if the following
polynomials are perfect squares
¢ 4x*—-12x+37x +bx+a
Solutim @
G

3 2
ver: 4')1“-—)2% +377 + |o’h+f

www.Trb Tnpsc.Com

"+ e~
7 —2 . 27 b a
Z)
>
=1 237
1z 9
&L, ©
2 b a
g 42 49
) &
®)
O -49 =
[a= 4]
K. RAJAS

NCC-14220086 .
AQRNCIATE NI
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@ ax® + bx® + 361x% + 220x + 100 H}_g f,etfgﬂ'gggmx&

T qhan dmd o veluedd o ond b,
ScleOD : Gu'\‘em Oml'-r E'hs'!- 346 '?IL"'} 2207 t+l00

“Jo Cl‘\ag} Sfanclave| 74:7:9.' CCW oro,-&r)

3
100 + 220% +3261% + bA + A

[0 |
(O |l 220 36) b a
0
(— |
20 | o Ny M 261
, 240 2}
> >
20 22 2. 22@/ b i
. 240 244 4y
L AD & 6
o .
b—létf- =0 .
/b-_-:Q-éQ—J G-qu;::,o
‘ | Q= tay |
AR
12.2022

g~ —
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36x' — 60X+ 61lx2—mx +n

C;{;Hm !

£ -5

www.Trb Tnpsc.Com

Find the values of m and n if the following
polynomials are perfect squares

oA 36“9"60?!3-%6' N — ML

3

3¢/ ko

6l -m n

>
*%V Ll
-;:"6 (0] 2%
@ &
& T 36..9
&) + &
O
n-49 =o
[r=9
K. RAJASF

NCC-14220086 §2
ASSOCIATE NCOC
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(39)Fird thi valu ,}a mand n B M (3)
ﬂ//bwﬂv po(ymm;ag qQre PQ'YM ‘sfuaxﬂ_-

v, XM=&+ ml+nx+16

_Soltdﬁ\? ;
Gliven ')tlf-%’hs-!- mmz+ nn + (b

S e R
4
&
2 4 -8 m
(6
&) &
2 -8 4 =k 0B
& -32 Ab
e ey (&)
»,
m-it-8§ =O
nh+32 -~o
—2t 2O
4 i fn-:. -22-1
em] L
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(4 3 1) (2 3 4)
IfA=[2 3 —SJ,B:[I 9 2J
1 0 —4 7 1 -

(8 3 4)
and C = (1 - 3Jthen verify that

2 4 -

-

[wtion
s 4 3/ 2 3 ¢ 9 2 4
Given: A= | 2 3 -8 Bz|1 9 = [, ¢85 12 3
1 o -y 7.0 = 24 =

O erc
& A+CRrc)
lo 4 38
= 2. 7 & —Q@ O & re)
S O B8
" 4 2 | to & & !
k“.) p-f-(Bf—C) :[1 2 "8 ,,_[2 P = 4"" tj —'7
! B 7% — g = -4 5 -
) [4 2 !:] > 3 4 g B 2
117) A1tB =] 2 3 -§ |+ 1 9 2 = | 2 12 ~b ©)
C "b"‘i_ ~7 1 - -t 1 -5

6 6. 85 8 2 4 I 9 9
av(At8)+ce = [ 3 12 =bl4 1 -2 3[=[4 10 -3
=6 2 4 - -4 & ~bf

L %S = RHS |
[ﬂ-+ (Rtc) = (B-+B) +%/ V(:rr"ﬁ‘ea?b.

» 2 3 4 8 2 ¢ ,
() B = L]+[, k& 3j [ Stepe: )
)

- TN
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] "8 |
X @ Given that A = [5 _J, |
1 -1 2 1 3 2
B = ,C=
@ (3 5 2} [—4 1 3]

verify that A(B +C) =AB + AC.

“ So\td‘l‘m
Ce o

A
) Rt = ~1 [~ STEes
3 5 :Lj ‘1 [ 3 | @ Roac

[ D _ ® A(B+S)
; @ AR
Y, I3 ok ® Ac
U_ A‘CR"'C) 5 ,_,J [l 6 &5 'L @ ﬁ@""‘k’,

_ a\—z 2418 4+S ) ,,._Of
n[luq"} lo-b J E @
(“) AR [‘ ] [ j [T -1+Is 244 ]
- 2 & @2 5-3 -5-5 (0-~2
4 4@)
[2 ~0o gj
+9
; 3 2 j-12 373 2
o, Ac [ ] L , j [ 5tq (5o lo-3
-—H
— "'f 7
20 19
_ |10 1% i
00 BTN #[ ~lo S] [ iy J [ ’J
L»/@

> LHS = RHS /A [B4c)= BB .;.ﬁ-c,J
o z wo&m/,
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' 1 1 1 2
i — B: ,C=
e [—1 3]’ [—4 2]

3 2

] oL b

G}V@h! A= - 3 -4 2,
- /"g—?"" epS
] gy -6 8| (O mac
WV Btc = [ J [_3 2 | = [—-! 4 C @ A(G+9O)
® B |
@®© AC
) A(e+9 = [ ] [-n 4] @ pr+Ac
— (zﬂ 2 < 8—“"—1 [-7 gy
_,__3 L é?" 1) ~8+12 s 4[>

M

N _[-2 4
e e Lo )
i) AB "[ ] [ ] [—! ~rz -2+ s
v 4 - i :[—;r 8] —&)
QV) AC-= R % 3 2 "L__’H __L.H:J / o
L B Sj
v) AB+pc = w ST L.“’ o

-7 /2 /@
B4

=% |, L8 = RHS
® /Alerc) = PEFAC] is V%Vﬂ’“’}"

]
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3 1 g
IfA=(_1 2] show that A2~ 5A+ 71, = 0 (@
|

SeluAto o Faa
é,‘ven ;A =[‘? i]

- [3; 3.0,
A=h,R%p = o Jx[_, 2_]

1)

w o)
\ |
’J —
-
(F2 P
\

l\‘,, o)
W 4
)

W 2 |z -2 <) U 3.
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n-(; sz=@_ _1]

~ verify that (AB)T =BTAT

So lution et [
1) .
W) Ag —[: ] T
5 @ Ag
_ S+2+ 45 35-;4-? @(_AQT
N ) +2+40 T+4-8 @ &

@ Al
3
_;j @ @ QTAT J

S H
& [m 1

Latg = R#.Q/ /CAB)’T: '87/;/-/ j¢ Ven'ﬁ’e@).
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(2 -1
1 2
0

show that (AB)T = BTAT

. 4 2 - O ©
L—.' ) |

’-2 - O ] 2

v AT = N sie 22

A ')

www.Trb Tnpsc.Com
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@ Find the area of the quadrilateral formed;
' by the points (8, 6), (5, 11), (-5, 12) and |

(-4, 3)..
SO,LUHm \ ) Y :
oK) 1
el 1 BEw
10 1
1
b %)
v 4l A (6’/6)
\‘ .DG'-;,B) *r
n < ' v . e e R %
R e 0 I BN TERDTTRE P
|f3| -
Givew o sy s %l My Ty

it A(8,6) B(5M) ¢(-5,n) D(-4,3)

[

L

ATqup Woomr oy oy ,
@uacpri}a}era—fj: 2 / / it

9, Y2 (/_-3 _5,.’. Y

1}

L' 3IEDXE -4 g
oSN
/A t 12 e
'9%[(98-%0 -5 -24) -(30 LeE —48 -fltj

[gg-g—(,o_ls ~24 —30 + 55 -+ 48 —-1ﬂ )

A4

2

kL [gg+60 +55 +4% —I5 -24 —30—117
=

>,

Q2.

[2-99] = %[7]
N i
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(@ The given diagram shows a plan for constructing | @
=" a new parking lot at a campus. It is estimated |

' that such construction would cost ¥ 1300 per |

square feet. What will be the total cost for |
making the parking lot? |

Solutpn, .
Gven poivts: A(22) g(55) €(49 007

Avea of =¥ 4l o L omib
QJAGA"]‘M{JT‘L& 2 2_\" 5\Jq -,\"2_ c?

- ) [(lo + 46 +9_8-rl)—-(lv+?_o+9+:q)

2
e ,1_.}:8"5 - B3
g
= L[2]

”"[gw s, Toted Ot =16 xt300
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@ Find the area of the quadrilateral whose vertices .

are at
S (_99 "2), (_‘8, —4), (2’ 2) and (1 , _3)
i
’ A
Sc:[#fcﬂ . il e @) 2)
o : 3 ‘_r -3 N
A ("9/"1) 4 C_Q/'“:"')
~101
vy

hy 72_ N3 ?’3 ,l" yq

ven f)omh * A (-9,-2) R(-8,-4) e (1,-3) D(2,2)
Avea o) ) SRl o 4 M'l um}
&mmqﬁwj o) / oy s syl

- e B O LWL equnk
= 3 TINAOY

- At - (wor]

~lb+ 1 +b 8]

K. RAJASEKAR

5 tnil- NCC-14220086 / 21.12.2022
. 25 ?, ASSOCIATE NCC OFFICER,
JD/JW NAVAL TROOP NCC
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@ Find th, avea #MQMTEIM,

(-9, 0), (-8, 6), (-1, -2) and (=6, —3)

Seludion.: A (-%.6) 0

Gﬁ% ;Pom#: A 69,6) B(-‘?/v) QC_(,/_B)' D,-2)
/Iven n e Ma Y %'/ vmil-.
@v\ka‘f’} = ']Q'_'l w WE) g 57
: W\

. ’;—/ 7 ON—s\"-ZJ"’}

{1 3 [~ +o0+3 +'I6)
L[(o + 274 '2-..—4,)- (-sY J
2

[27+|z-6 i i +—]

\)

33.,25

y (6]

+.
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@ The floor of a hall is covered with identical
tiles which are in the shapes of triangles. One
such triangle has the vertices at (-3, 2), (-1, -1)
and (1, 2). If the floor of the hall is completely

covered by 110 tiles, ﬁnd the area of the floor.

So’u;(-ld’h A g

LW £t Ny

(R vev poings : A(sa) g {~,-1) c(n,z)

N No. A3 N h
T o /g borl
AR %{ na{ﬁ(ﬂ' g 2/"’1 e YA i

‘K. RAJASEKAR
NCC-14220086 / 21.12.20;
ASSOCIATE NCC OFFICE
JD/JW NAVAL TROOP NC
GHSS - GURUVOYAL, TLR
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Find the value of , if the areq of a e @

° Quadrilateral is 28 $q.units, whose vertices are |
42),(3,0,(3,-2) and (2, 3) |

g@lem : - _
Given poinks: €4,-2) (-3.%) (3,-2) (2, )

Avea Sl g g
e )
@L@l’fja'*erdﬁj_ E / —_ > 1< \)—1\_, 3 \‘5..9_ .
= Lil= 6+9-4)~( 6 ~ -!]'::9_8
> 2[(Lrl<+ +9 9 ( +3K ~4—12)

=__>_!_ _4L<+15-L;.—6—3K+4+lz =28
2 .

) B iy, F 2
= ‘a[ L, +3{’ ﬂ ‘

Tk +21 = 56
__7[4 = 56~-2|
&1k = 35

.é

g-—-"

K--%;_

-

K=~5
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A triangular shaped glass with vertices at
A (-5,-4), B (1, 6) and C (7, -4) has to be
painted. If one bucket of paint covers 6 square |
feet, how many buckets of paint will be required
to paint the whole glass, if only one coat of
paint is applied.

ﬁ’%) on ._,_.;-._;v-._ —_— e __.._‘

G’Y%PDIWK Als, '-‘-r) e(1.6) ¢(7,~4)

M' Nar M3 N mﬂ-
Aven ‘.’f a-= Yo Y3 -"'/
= T R
o N
e / -4 \"6 Ny ey

\I

2 h(--_gc-,u -4 -28) ~(-4-+u2 H"f):]

Kilaie
- B

RN

N i S)Z unite

iy Uc -_—_-_f,‘é_:l

K. RAJASEKA
NCC-14220086 / 21.12.:
ASSOCIATE NCC OFFI(
JD/JW NAVAL TROOP |

GHSS - GURUVOYAL, TL
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@ If the points A (-3, 9), B (a, b) and |
C (4, -5) are collinear and ifa+ b =1, then find |
a and b.

|

St 4, mr ur
Given points A(-3,9) B(Ob) c(a,-5) o Collinear

Ny ML Ny AN

AY&‘?[A =-9L_Iy' Yo Vs i

4
= 'L[ b \,.5 1
= C-g_l:,—-sa-f-%)—-(‘%—t +b+!‘52] /O X 2

o -3b-sr3t -9a-4b-15 =0©

=

- O

— 0O

—iya -7b+2) = O |
~tgq -7k = 2l [ duide k]
2q¢ +b/ =3 —0O
Given €1ua+ﬂ), __a"'LZ —':__) —
a N2
o= 2]

|
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>

’ Theotem ~|

Bos/c E___Egzhonahiy Theo'rem
CC”‘J 'TF;a.}e_& f_ﬁem‘rzm

&+a.{’nme nt o

LS

f

A tvai 5}1{' Lme dravin qua[)e,)
to a gde oft -{;nang 1n+ergee+inj e oTher
two Sides, dividel the Sideg -in Me Same ratio,

iy _ A ‘
De  Ec =D ANERE

Preof : el s /‘ . k

-
Ll = Lhse = [ape | |
A.a: ABﬁC :AD&E.

L2=/pca =/LAED T .

AF}BC NA ADE _ : - \
B A oS >

Uy Henezs Paovesh 51 .3
',liﬂ'--{_:‘ﬂ " 3= Wit ,,i-'\i‘va ,")8,3‘5.’; K-
AR o 2HTAM -AJHIAIT 3TAUCGBHRO mM.S
JAYOVUSRUD ,.2.2.H1.0 GRA(
-—em & m A M & s &P - Ay % T
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N EO'YG_Y:D -—9_/ Ahjle' Bi.cec'hn' 775@_@7_-@}-0 @

Statement »

The infernal bisector of an .ci-znj/z
of (=} "l‘rz‘ang)e,»'a[,'vides._ﬂ?g Qppoé{.fé-_.é_}gi'
inﬁefnauj';n__ﬂ&a Tatio of tﬁ,,'@oﬁrr’ez#hdmj
Sides Containing fe amje. =

[ AB . .8D

* AC .~ ¢p

Paof: - /

et /1= LAEe 2 [oae A T e

A AceylS, iSasceles = .
AcC=CE <D

A App ~ A8 N BO8

i

AB o B_p : A5 ‘; --.; .

i D>, ‘Ac=ce

R

[ RPN s R S e
B ~.¢D AN Hence Prévés‘*y.' :

= T\ - 7

-

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

\

Theoreém ~3, i L :
s o
@ PYTHA 60RAS THEOR-‘E:’.‘?-.‘. st

S‘l"ﬂ«femgnt
.Ln o righ’c anjfe 'Enanj)p_ ’ﬂ:e sczuam

[t
Proef

Ll “}’Pof-enqsm o]
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W ComPaw— AABC_ om:f A ﬁDC C/C' 5 Coren

l—% ZBAC LA_DC_ 70
A AB& ~ A ADC
ﬁe:‘; LON T B

2l _F

W Coropare A Ase zg Comern o 20
ZF’“ ard A hap C i5 Commair) (ecxB2)+(Becxne) = 21 —rﬂc .
8Ac =~/ B - ?o X s '
rel . ~ pc[eo+od = pg 2 Tl
A ABc ~ AA8D
e 24 Bc\ X BC = AR -!-ﬁ‘?‘-i-.\ = A B e
BC - A‘B E’_‘ M A QRS 2_ ) %.7 g . L&y - :
AR BD o= ﬂd/ﬁ - BC’ : AR+ AC :
X AR ' AU rD :
PC xB8D = pexA v
—._.__’_________.. N LEN A
[Be x80 = 4] 4
ik K. RAJASEKATR, . S
STAZITNZALASL M.Sc., MA., M.Ed.. M.Phil., 28
AR B AR L 2.0 GRADUATE TEACHER. MATHS '
ZHTAM -SIHIAIT ITAUDASID G.H.S.S., GURUVOYAL,
LAAYOVURIUD . 2. 2.14.D T.L.R - Dt CHENNAI-52.
SC-IAAIMD .0 0T
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@ An industrial metallic bucket is in the shape
of the frustum of a right circular cone whose
top and bottom diameters are 10 m and 4 m
and whose height is 4 m. Find the curved and
total surface area of the bucket. | |

Soludion : tight b= 4m
Giiven: Top Diameter =10 m
Top Radivw R = 5 m

Retlom Dicmetss =4 m
fRottorm Radiws r= 2.m

__&: 1/7‘19-4’.(24)? :JL.99—+(5_,,)’ = ['4' _.?'+3.1 :m ZJ:I_S:
[L=5"]

[cs A = w(Ri)L S5 o]

1

%’:(5-}1))(5 :Ex’/XS‘:'Z?—X'?

z

N
n»
>
\I

o) mz”!

T.8.n = T(R+)L + TR + Ty Syurh

4 {408
e IR
‘TSA:
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LY ) The frustum shaped outer portion of the table
lamp has to be painted including the top part.
Find the total cost of painting the lamp if the
cost of pamtmg 1 sq.cm is X2,

So[w«‘fo‘n
lee\) - 'LL,.-: Qem

R: "2 ¢y 3 By e 6C,YYL
L = b+ (R =84 (120 :/97':?
=Jexrs = [0 =10 em

Tota! A"‘e&Ef 'f'aﬂe Lamp with Top part.
CsA czﬁ Frastaeerm + A eo # Top pont.

(l?—hr){ 'R
9—’"(/2+6) e -,-7—’<6)<é

—

h

22 x 18210 + ”‘ % 36

T
g,z. x,gl,.;—__xsé

22 . 2]b =3 xmb
: »[wj e

— 678-24% e’
/ .,.,7 678.24 X 2

- Icrlra-ﬂ COS*CTQPM‘”
s ,-JH—' 1356 ‘H?I
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A container open at the top is in the form of a

\0‘/7 frustum of a cone of height 16 cm with radii of
its lower and upper ends are 8 cm and 20 cm
respectively. Find the cost of milk which can v
completely fill a container at the rate of ¥40 per )

itre. u-.:";:}l'r)( Jaggcmg’: 1 1*)

So’u;H‘m '
@‘_’_303 L: (b cm
R = 20 cm

= & cm

\/o!um& f}l‘- 74'“ '/"4"9 ‘ - “ Y=-Q &M

-Ja:- 'ZTL,[‘RQ__} R~ _\.Tﬂ Cu . Unift

é%-— % 1b [20 4 2o(e)+sj

)

)

208
- ix?&ﬂb*%
AT

200\ x4 X 228 = J0449.92

'-

@':_ [O4 50 CMB
_ j0.4s0 Mt

g/z}le. oo /.
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_ If the radii of the circular ends of a frustum

which is 45 cm high are 28 cm and 7 c¢m, find
the volume of the frustum.

 Selwhom .

www.Trb Tnpsc.Com

)

- 48510 |

ez

—
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@ Two dice are rolled. Find the probability

that the sum of outcomes is (i) equal to 4
(i) greater than 10 (iii) less than 13

_S;l:}‘l_‘_af) : : Sy |
_QOI'IDPU. SPIGG’. 3:{(!,1) (!;1,:(63%},@) ().5) (1.6)
C?,r)"f%) (24) (25) (%)
3.1 (32) (33) (3 (B9 (36
B = ) (42) (43 (4a) (45 (46
"nLS)—' Béj G D Csn) (siD s (50%) 29
&) Cé2) (&9 (e L(es) (66

b Lot A= Sum of outtme QA GEL B 3
ﬁ':{(!rg) CQ,J-)(B,»I)} J Q)= 3

= nCﬂ) o g/ 5
v - N(s) “3&fW 12

() Lt R = Sum of Gukcome veater Then (0

ndR) gl g

PCB N7 = 2€,, 1%
(i Lk & = Sam of ouktome L%Sj“-l‘i-:

e

o SV N U/Y R @56 8¢ ney=36
/
= need .o 2L -
PLO) = n(s) '/3'5 i

K. RAJASEKAR
NCC-14220086 / 21.12,2022
ASSOCIATE NCC OFFICER,
JD/JW NAVAL TROOP NCC
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of getting a doublct or sum of faces as 4.

- Solution

Sarople S=2(L" (13)0w) (15 (6)
E “) Cm;):?a) (2t (2D ()
(/ CONCONEONED 3

@,’)’/ (42 (47D~ G/‘* D-lark)
n(3 = 36 @6/) Gy 0D D & “’?/}

() Lot A= Doukde %_'Fﬁ"eﬂ__,_-l

A= § (1) (3-2) (3,2 64,4) Cs,s) (6,6)

, fTU’r)

@ Wﬁf
= g(’/%) (2’1) CB’DjJ nCB):.;

YRt 3
pP(B)= nlS) -—g
(ADB) g(l 9.(3,5) (4+8)(S,%) (e./éj N
{@@(3,9}
. AOB :‘-‘2(2,2)} ) h(AnB)-
o NAB) T g
QY)Y - nesy - .26

S PCAUR) = PrA) PR - P(ﬁﬂ@ X

6 e AR = —
=g ¥ B¢ Tag 36 9
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_ Two unbiased dice are rolled once. Find the
probability of getting |
(i) a doublet (equal numbers on both dice)
(ii) the product as a prime number

(iii) the sum as a prime number
(iv) the sum as 1

Selubn | DD 0,096
gquil %"‘* ~S -~ (\’ 2.

2. D2.2)2,3),(2:4),(2,9),(2.,6)

(331),(3,2)5(\3‘:_3)_ ~3,4),(3,5),(3,6)

2 ] (4,1),(4,2>,(4,3‘)\:0%%,5);<4,6)

n(eLT 2o ] 00,520,653, GANGIRE)
(631)7(692):(693)5(6:4)9(67 9(\63{9?}

() Let A= double ] H

A :%([, D (2,232 C4-4) (5+5) C&; 6)} ; nA)=6
PLA) = nea) bl L |

ncey G-

ncey 1. 2¢ | ‘
(0 Let B-= The Pféd.auc,l— 25 @ pvime number :

B :g (1/::\.) (LB) ( I/‘J) (Qfl) CB‘,-J) (g,pj) ﬁ(_@:‘ é
peR) 41 DER S HE W 1

-—

Nesd N 2 b

d

() Lor o =TS 05 2 F .

W =£ (LD (20 o Os) (479 1.6 (6) |
G.» (25) (3.2 (3.9 (4% (,2)(5,8) (é,s)}

X - hc i J,g‘ S'— —5_

nLC)*.' !5," P :'an R T

e

yime nurbey !

]

() Lot .'D: 'Tp\ﬁ—ﬁum oAad e

WMW

D:{Qﬁj e n(‘p):\o-

iy DCP) 1.0 i \
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.f Three fair coins are tossed together. Find thé:
@ probability of getting

!- (i) all heads

l |

(i1) atleast one tail
(111) atmost one head
(1v) atmost two tails

Solution :
Sawple Spact S =S HUH, HHT, HTH, THH  TTT, 7T, ThT HTT:(
ni®-= 8¢

@ Lok Az all heads
A= SHHH] n(A =)
[p(a) SR i

() Lt o= atleast aredfeil;
B =5 HHT, tt, THE, TTONIRITHE HT f

piB) =" 7 :__)"7["3 1z,
_ » PLR) i)~ 3

¢ =3 HOT, WuT, T7H, F11] , n@=4

r R L
OV T

(9 ket D= akmpost two tale (a2 )

D '-‘—{HHH, HHT, HTH, THH, ITH, THT, l-F'f’T}) nm=7

i
* 1100 A0
i P(D)-""rj'f’g')" )

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

\ A bag contains 5 red balls, 6 white balls, 7

| green balls, 8 black balls. One ball is drawn at
random from the bag. Find the probability that

the ball drawn is

(1) white

(i) black or red

(iil) not white

(iv) neither white nor black

Sclukion Griven /Kam/,a Lpace
2 iS re.|/ é "OHM-) 7 37@'?, g Ude,kj
B ek A= Gettrg white bl
_ | S b
n(H=6, PH)= Uil 2 Ml

T S g f
qp ler & = gettiy black ev vef Ralls
-, i niz) B
n(e) £ 8+6 =13 \PRI=70 = 2% = 5,
(i) Ler C-= Not W%,wk«'fe bells :

- neey. . 26" lo
nh{e = 5+7+8-—- ?ln/ .. ]D;(c) =5y =i

n(s) " )

0‘} Neither white novr blac '..
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12 Two djcc are rolled once. Find the probab1l1ty R

R 1 S

total of face sum 8.

éolufrd‘)
Comple & S -{(11)(12)(13)(14)(15)(16)
GEAT (31)(22)(23)(24)(25

5 BV ium

Tncsa:%

A= {@ D (1) (2 (ar0) (245) cl,s)
an (42 Ur:%) Clyzu) C4,>) C4(,)
&y (62 (é:a) (6 Cﬁo) . 0%

b . nlA
nca = 1€ P(A) rz(s} 36

() Lot B= Gotsing dodal face Sum § ¢

R - g@,s) (3,9 (4,0 (53 (6:2)]
NCR) 5

n(b) - / PC) = 'n_f:S) = g
Cﬁ;} AnB = i CQ./E,) (4.;,;4:;,) CL,Z)}
NCANR) = 3 P(Anra) - Nlarz) 3

LSy =86
- PCAom) = P(A) +pCRy ~ P(APR)
i )8 S B g %

B2 B
36 ‘36 24 26 9

ﬁ‘.rP[AUB) = .‘-?5-_
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JA flower is sclected at random from a basket
containing 80 yellow, 70 red and 50 white

flowers. Find the probability of selecting a -
yellow or red flower? .

 SOIUHBH

_;anPLQ g/)a.m_ S =§8‘0 yelle, 70 ved , Sp quk}

: N(S) = 200
Y log A= VYellow —Howenr;
A)= &o ‘ __!’)0‘}) % 80~
ni A 1 FE nig). 200

UV o+ Rr= Red Hower

n(B) = 7o, Pce):%%:;_z
A

(i PABYS"BIA) A+ PCB) iy

8B
200 200

_tibo

T oee

o

K. RAJASEKAR
NCC-14220086 / 21.12.2022 i
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30 opted for NSS and 18 opted both NCC and
NSS. One of the students is selected at random.

Find the probability that

r Dln a class of 50 students 28 opted for NCC

= R

(i) The student opted for NCC but not NSS. "
| (ii) The student opted for NSS but not NCC. \W
(iii) The student opted for exactly one of them. i
Solubio

Nag

s

Serraple SFau- S= 50 SMent&

sy = '50 | |
Q) LQ,{-A_-_-_@ ‘l'ecf 47 NCC bus not NSS
| nCF}) A A

neay= o, Pmﬁnw g

GD Ler B = oméap Aes beip noF NeC
nCB) ﬂ’é 6

_-—-——-’0—'-

iy Lo ¢ = opiey & Gnar o f oo

NEC) = MOIZ S 22N 0 (gl 1]
PO= iy~ 56 22
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Three unbiased coins are tossed once. Find the .

| probability of getting atmost 2 tails or atleast 2 ' |
l heads. i |

e ——

I
Sblt’d-'m. Thyee Coins Tossed)
Sawple Spau S = gHHH, HHT, HTY, THH, TTT, TTH, THI, “T'}?.

A= gHHH HWT, H'TH; "HH TTH THI, H’_Tj

AR AL C .\ntﬂ)
Y?(Pr) )EPPO' \’7(_9)_8

R = g HHl HIH THH HHH}
g TICQ e
N = 4. : PCB) e ms)) "%__

%,@ (THH\? TTH, 'TH; T 0
n{ GDH truﬁ HH}

S{D HH: HTH, THHE n (ANR)=4
P(AnR) = nirne) i-"

new. gs

 Peavey =, R R S HATD).

g i o
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L

‘Two customers Priya and Amuthan are -
@ visiting a particular shop in the same week i
(Monday to Saturday). Each is equally likely
' to visit the shop on any one day as on another
-day. What is the probability that both will

visit the shop on

(i) the same day

(i) different days

(iii) consecutive days?

ﬁlﬁfﬁﬁﬁ

, mwIT) O ) (,8)-
m{;\){_;ﬂ( D e Lo

—

TalS) =36

) ek A= &W

1(Mon Mon), (Tue, Tue), (Wed, Wed), [y
(Thurs, Thurs), (Fri, Fri), (Sat, Sat)}

n(A)==6
T3 @ i
i ) n(@) o6 6

‘\ 1) ¥l s rmaid d Visit on Dv"fc—nellt‘&#~

~P(K)—1-—P(A)—-1—%

2
6

U)l) visit on Conseguent days

g C= {(Mon, Tue), (Tue, Wed), (Wed, Thurs),
(Thurs, Fri), (Fri, Sat) (Tue, Mon), (Wed,
Tue), (Thurs, Wed), (Fri, Tnus) (Sat, Fri,)}

n(C) =10
n(C) 10 .5
PO=%® 3%~ 18
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From a pointﬂ on the g—roun(_i —_ale angles of
clevation of the bottom and top of a tower
fixed at the top of a 30 m high building are

45° and 60° respectively. Find the helght of
the tower. (+/3 = 1.732) MAYa2 2,

P A i it e SO

Lolution

U) ZAPB 45

& iy i
't‘an@ ﬁ{ S

tan be = J IO - b :,A,+30

BrY) W BP 30
fa = &t32 > 2o0/3 = A +30
20 :
N GG B
' h = 3020
o BO}:@“J
. 30 (Ir732 7!
4 i O 3&: ‘ K. RAJASEKA
' = 7 NCGC-14220086 / 21.12.7
b it 2 eI SO

GHSS - GURUVOYAL, TU

I3
0
E

e

R
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of the top of the lighthouse as obse.rved
from the ships are 30° and 45° respectively.
If the lighthouse is 200 m high, find the
distance between the two ships. (\/3 1.3

o T i
TCEPI2Yl

~ 200 (1732 7))

L oeoX2-732)
R (= TR cres o ST 58
f022 [cp = 546.4 m |
’ ] ;
cC Kb
UR-DT.
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=

.'Tk:_ mmk; swme[ %*Hw-é;&uden'/‘& | Tf

10 G 8"0 test ave g,v&n belowo -
Frnd . ' gtandavd deviation of Heir marks,

==l "

T |4 |6 |8 [0 ]tz
.} 7z o) §es et LTS '

'%M@#dmﬁyo’ i'fd (z}d)

i:F s ¥

X | F demad g | £9t
4 7 ;1,.-8_-_-“- It ‘—28 l/Q— Iy
6.1 3 leeCoWg| B[z |
8 |5 lesmWAo ] ol o 1" |
LD N e _10-8- & irid e | 36 | i
12 | 5 |12-8- 41%6 el e
ke, TR ﬁ
o= [ 240 _/4 _) 240
‘ 29 29 29x2‘?
:\/ﬁx”‘t"_‘/‘, - 6960 ___/_5_. |
27 29 229 N4y o4/

_ [ 6%o-1t¢ 3 NP
z ;8411 = -._._.__cé?;wlg = /8. 25
= Bos = 2,97 [T ne7] |
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are. Qiven belbro. Find its Standend deviation.
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paro'#culav J’od:Jeu-

o clam

V4

|

Tracks  [0-70 [(6-20 |25 -a0]aerts 40 ~5 |50 4o |70
Ny Shd | 8 | 2| 7 % | 9 |7 15| \
S “____‘_*___.____""-' - e rradede : |

sfajmddenrbmr~fML (-2'44 xc/
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i mil _ NM-A 5 : 2
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- i 5-35 _ -3¢ D,
- __O 9115 ol ,,_8 . 16 4™ !;),-3 - __‘_21}__#_":7_2_#4
— 3 "'3 - 7
\ ©=20 | i5 b |BFeca ] g |-24 | 4
5 720f—.30 25— '_l?_,,_‘ sz‘_’—:%’l:- [ r_|7 l'; )
| EESE El KT 5 0 R A
N 7 I N A I
Zocelss L T 2 4 e e
bo-70| b5 | 4 .30 3| g P gkl PRE
{ D - f' ety
=7/ | <4d = -30 k4= 210
- CQ:D) X N 2f4% (;@i‘f')p"zx o [ BT6: (—30 ‘y i
e Ay e i
=] 20 [—a5y_3¢ | [ 0 .
\[7’ -—('nxw) Xlo l/ -"_'_ ok x(o
'7:x7)
~ [ 14910 900 \/79-?!0-990 (4010
= - Lo 7 = X0
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Kin

i The mavrks Scoved 1.39 10 Studkenb
( in aela Jest are 25,29, 30,33

35' 37/ 38/ 4’0/ tf"f/ q'g .
Find Mo gdardard diviatton,

Selutror: _
R R ey k.
SO o= \/_z_i {zdf
n n
A= 35 ""n'.a-;zo- R
d:x"A c:‘fp_

2C

| 25 [25-35 ==j0 | loo
29 29 — 35 = —~ 6 26
20
23
35

30 3 . =S i
33-35:=-2 | 4
25 55N O O
27 3% o= 2 4y
38 [20-29=- 3 9
40 |40 55 = 5 25 |
44 |4u-35 - g 8 ) “
48 [4€-25=13 | 189

20’-: 9 -ﬁd":ég?,»

—

k7 i 45;_/9 5
/0 - b

o r——

l._

= | 43 99 :\/_t’_ngg_g_}_
(o ioxwo /[ (o oo

- _-12530_'?—2‘ — ‘/'4‘4’7

{60 Joo . / oo

7 \/24'47 = 667
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“i. (&) Find the aoeﬂ'de”k G’«P- Vav/adier

o,ﬂ 84,25, 33, 37, 29, 3).

__-_.'_._

| [Coehciont CQ:-Q‘;
> | ?fith'a-ﬁd;{\ Trale g P moq
‘ DZ% il ,S’qm 0# Treme -
b “No op Theme -
| ~ z
; o 29.(.26-1—33-(-57 +25 43|
| SEOE |
e 5 B g / TIRNT

'1

U)/

n_: 6

\/5-4" (24) /

| =24, 2¢; 29,31 33, 37/, i}
| e F
1% d=n- : Hﬁ/”z y
|24 | 242 =,-é_ 34
|26 |2%f202 8 (N4 | 2 e
B B il
|27 [29-2e= —1' | ) N
R, ot il h O I 2
[z2 s 5 g [TV
W 27 [37-3= 3“";5_*"rﬁ4.32
— i
f M AV — 4'32_)(:00
. e 1R 4
A2 |
S R i
“ev=14-4] L
y
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‘o) Sdve:
' Ve l ’

E— -+
ML-SN-{ P ame
Sdn.

-3 >6, Ly >2 _—S—> 5y
—
!

) (m-3)

= o

D) Gy (n-5)
@-')(11-—9) + @-3(n-s) — (M-)C*-fj
1) M=) Ch=5) m-5)

N —eN4l 4 WA IE = Eﬂz-';«-rg

O -D =) (n-3Y n-5)

;,,ﬁ__@,, +06 +’n7‘-—gw+15- s 'nz—» -3
(=) (—2) (N-3)(M-5)

-—

W :
n -—“M"‘f"g :i_)z ]

v(t'h—i) (n-)(n-3) (M -5 -
(2pf2X»-9)
b0 (%2) (M-D(n-5)

n—9 7 _4
Q4D Cn-5)

1)

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalal.Net - www.Trb Tnpsc.Com

e ] , 47 2 ALE2
5y FIRR 2od, foy={ 77 T

n-2 .
3-2 . >3

o] 2 Muwle SO Ll o) i
B Fea)  ob Pey @) fem 2w

g 'fc') - 3f) Sy 0 s> Loé\ls‘j&wm BomrD .
-2

2 ) N | ¥ | —; 4 :
;i ..,(, - -:;) "',’3 !':!’2 ..: C)' | 4 % L >?{
N i il T =

29+7 - P o Sty
¢ ':/3(4) = B3n-2 @) vfc—@: = 2
= 34-2 = (-2)=2
= IQ-"-l:2- 2y
[ feo= (o] o T
[#9 =]
Q) f4) + 2 ko)
il ) LC-= 2m47
4, = (OF = 2(-3)+47
«FCI) = M2 - =~ ~6+7
= (v-2 If(—;): ’l
’ ) ~2 0D - 3fes)
|[fey = =1] =
fc~3)
)+ 2f= 042X = -1 < 2440
=" Q2 : e /
= g o) 2RO s w3l
B AAMEIE e
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(D £ UDAfo) G FE1:5) G0 fe)+fez)  Boash.

o i Y [l i ﬂ 1 : 1 1 { ;
‘!\ ! ! | | I ! / = } ] / _m._?
7 W/ Rt W TR e - N | 5 1
L’#—J
. S | 2 Tht+2

4 4+ (-3)
'f'C-'i) = oy -
— "’2-:_’ = ,
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\ g
_f 2 [-5,9]) = R ok Snsonmnag Sebagbors semungiptuagk) (i) fea)= 52%) Qv £ = bny)

. 4
[ S e T XS] S 5’(-’4)7-! 2 iaye)
40 = 3l 3 2 g .l _ :-.-::Cig’),-; )="ﬁ+'
By 6 &K owey memwtedeDN ! ,
5. x> D) 2o o~ d>na;$- —f(g) >, W : ‘ ']ece)-': ?6;\"’
1 i = Q) = 32(6)-9
W FE) +foy v fe -Fen =3(®-4 = 18-9
o Q70(1)+-Fce) ™ 2fEn- 4c6» - y ;_;.,
. b . | )
Fa) + fc-2) .Ej sk 2
= & ofeprfe 767%1———-—.)‘ f ?
s 3% —4 = 2xX 79+ 20 2 ) +fc—z) |
L -5 -4 -3 2 O » 2 3 4 5 Q 7809 N - ’78: / -——____.7? 2 C-”)
Sn—) _ |
) ' ' _ =22 14
w 1£("3): Enq () A = 3n—4 ; & = |
= 66D B O~k , |
=-184) =.2) ~4 ) L ,_"_%‘; ~ B
\ TR
jeti)s ) fey = 67 +) | __a _
= 5063-) = 6(D+] ! __—.f"-" 7
= 5@ -] = ‘6 +)
= 20~ s 7)) = 7
‘hl) =19 N 'f('.’)- ’fcl) .
A+ fa =&7 -7 , .
-f( )+7c y = (O K. RAJASERKAR,
o e Ry n i ' M.Sc., MA., MLEd., M.Phil.,
=, 'GRADUATE TEACHER- MATHS
% 4 G.H.S.S., GURUVOYAL,
T.L.R - Dt., CHENNAI-52.
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